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Question 1

Question Type: MultipleChoice

Which of the following best describes the method used to assess the full lifecycle cost to a user of an IT service?

Options:

A- Total Cost of Utilisation.
B- Total Cost of Ownership.
C- Total Cost of Provision.

D- Total Cost of Allocation.

Answer:

B

Question 2

Question Type: MultipleChoice




You conduct a Total Cost of Ownership survey of your Data Centre. Which of the following is an indirect cost?

Options:

A- The cost of upgrading cooling equipment.
B- The cost of installing a server rack.
C- The cost of introducing redundant storage.

D- The cost of the power consumption of a server.

Answer:

Question 3

Question Type: MultipleChoice

Which of the following describes the purpose of Cost Benefit Analysis when assessing a Green IT investment?



Options:

A- To determine the cash flow of a Green IT investment.
B- To identify the risks of a Green IT investment.
C- To calculate the return on a Green IT investment.

D- To identify the advantages of a Green IT investment.

Answer:

C

Question 4

Question Type: MultipleChoice

Which of the following terms BEST describes an employee who promotes green initiatives within an organisation?

Options:

A- Green Champion.



B- Green Evangelist.
C- Green Advocate.

D- Green Leader.

Answer:

A

Question 5

Question Type: MultipleChoice

Your organisation has just appointed a Chief Sustainability Officer. Which of the following could form part of their role?
a) Reduce the organisation's carbon footprint.

b) Measure environmental performance.

c) Enhance the organisation's reputation.

d) Reduce product development time.

Options:




A-a, b and c only.
B- b and d only.
C- b, c and d only.
D- a and d only.

Answer:

A

Question 6

Question Type: MultipleChoice

Which of the following roles is most likely to be accountable for integrating social and environmental issues into an organisation's
business practices?

Options:

A- Corporate Social Responsibility Manager.

B- Volunteering and Charities Manager.



C- Human Resources Manager.

D- Business Development Manager.

Answer:

A

Question 7

Question Type: MultipleChoice

According to The Climate Group, how can IT help to green the logistics industry?

Options:

A- Integrated systems allow more vehicles to carry smaller loads to more destinations.
B- Virtualising services mean that more products can be delivered via the Internet.
C- Lean supply chains use less fuel and power to deliver goods.

D- Improved warehousing ensures that products can be stored for longer.



Answer:

Question 8

Question Type: MultipleChoice

Your organisation has introduced a cost reduction strategy. How can your green IT programme help?

Options:

A- Maximise equipment usage, minimise energy usage.
B- Decrease power management, increase data redundancy.
C- Maximise application security, minimise employee collaboration.

D- Increase desktop applications, decrease server applications.

Answer:

A



Question 9

Question Type: MultipleChoice

Which of the following is a business benefit of using thin clients?

Options:

A- Reduced data storage needs.
B- Reduced maintenance costs.
C- Reduced PC downtime.

D- Reduced data duplication.

Answer:

B

Question 10

Question Type: MultipleChoice




Which of the following is the most likely reason for privacy and data protection regulations hampering Green IT initiatives?

Options:

A- They increase the need for desktop PCs.
B- They increase the need for data storage.
C- They increase the need for standalone printers.

D- They increase the need for virtualised computing.

Answer:

Question 11

Question Type: MultipleChoice

Which of the following activities will deliver a 'quick win' when introducing a green printing strategy?

a) Only print in draft mode.



b) Use duplex printing.
c¢) Only print in full colour.

d) Use recycled cartridges.

Options:

A- b and d only.
B- a, b and c only.
C-a, b and d only.

D- a, c and d only.

Answer:

C

Question 12

Question Type: MultipleChoice

How can you ensure all stakeholders are informed about the process of your Green IT programme?



Options:

A- Develop a Programme Plan.
B- Create a Communications Plan.
C- Produce a Stakeholder Competency Assessment.

D- Maintain a Stakeholder Map.

Answer:

B
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